
Læs venligst samlevejledningen inden 
du tager drivhuset i brug!

Samlevejledning

Model ME427-1 

Size: 126x65x191CM 

Model ME627-1 

Size: 187x65x191CM 



Indhold 

# mm ME427-1 ME627-1 

M501 1570 2 2 

M507 646 1 1 

M508 646 1 1 

M503 1862 2 2 

M004 635 2 2 

M509 1258 1 

M510 1868 1 

M511 1570 1 2 

M512 1254 1 

M513 1864 1 

M514 1254 1 

M515 1864 1 

M516 1256 1 

M517 1866 1 

M518 1663 1 2 

M523 646 1 2 

M524 584 3 3 

M525 1540 2 2 

M526 580 1 1 

M527 594 1 1 

# mm ME427-1 ME627-1 

M528 594 1 1 

M529 400 2 2 

M531 200 1 1 

M532 300 1 1 

M534 624 2 2 

a1 M6x10 41 48 

a2 M6 41 48 

a4 Φ3.9x7.5 6 6 

a5 Φ3.5x19 4 4 

a6 Φ3.5x25 6 6 

a13 Φ4x25 8 8 

m3 - 2 2 

m8 - 2 2 

m9 - 2 2 

mp2 - 2 2 

mp3 - 2 2 

p3 - 2 2 

p4 - 4 4 

p7 - 2 2 

p9 - 8 8 

FLUFF 1540 2 2 

m5 - 4 4 



2 

Polycarbonat plader

# Størrelse ME427-1 ME627-1 

G 596x1570 1 2 

H 592x383 1 1 

I 596x235 1 1 

J 596x664 1 2 

K 596x1574/1852 2 2 

L 596x751 2 2 

ME427-1 

ME627-1 

I 

G 

G 

G 

H 

H 

I J 

J 

J 

K 

K 

L 

L 

L 

L 



3 

Sidevæg

# M501 M503 M507 M508 M004 m8 m9 mp2 a1 a2 M534 

mm 1570 1862 646 646 635 - - - M6x10 M6 624 

Antal 2 2 1 1 2 2 2 2 16 16 2 

M501 

1 

K K 
M501 M503 M503 

M004 M004 

M507 M508 

2 

4 3 

5 6 

1 2 

3 4 5 6 M507 

M501 

mp2 

M507 

M501 

m8 

M507 M503 M507 
M503 

m9 

M501 

M004 M004 

M503 

M534 M534 
7 

7 
M503 

M534 



4 

Front 

# M509 M510 M511 M512 M513 M518 a1 a2 

mm 1258 1868 1570 1254 1864 1663 M6x10 M6 

ME427-1 1 1 1 1 9 9 

ME627-1 1 2 1 2 12 12 

1 2 

3 4 

1 2 

4 

3 

M509 

M511 

M512 

M518 

M512/
M513 

M518 
M511 

M512/
M513 

M511 M518 

M509/
M510 

M509/
M510 

G 



5 

Tag

# M514 M515 M516 M517 M523 a1 a2 a13 p9 m5 

mm 1254 1864 1256 1866 646 M6x10 M6 Φ4x25 - - 

ME427-1 1 1 1 10 10 8 8 4 

ME627-1 1 1 2 14 14 8 8 4 

1 2 

3 4 

1 2 

3 

M516 

M523 

M523 

M523 

M512/
M513 M512/

M513 

M516/
M517 

M516/
M517 

M514/
M515 

J 
I 

Φ6mm
a13 

p9 

5 

M514 
4 

5 

5 

6 

m5 

6 



6 

Dør

# M524 M525 a4 a6 p4 p7 FLUFF 

mm 584 1540 Φ3.9x7.5 Φ3.5x25 - - 1540 

Antal 3 2 2 6 4 2 2 

1 2 

3 

4 

5 

6 

2 1 

3 

4 

5 

6 

M525 

M525 

M524 

M524 

M524 

M525 

FLUFF M524 

M525 

p4 

a6 

M524 

M525 

a6 

a6 

M525 

M524 

p4 

p7/a4 

L 

L 



7 

Udluftning/Vindue

# M526 M527 M528 M529 M531 M532 a1 a2 a4 a5 p3 mp3 m3 

mm 580 594 594 400 200 300 M6x10 M6 Φ3.9x7.5 Φ3.5x19 - - - 

Antal 1 1 1 2 1 1 6 6 4 4 2 2 2 

1 

2 3 

4 5 

6 7 

8 

mp3 

p3/a4 

2 

M529 

M529 

M527 

M528 

H 

M527 

M529 

a5 

M528 
M529 

a5 M528 

a4 

M532 

M531 

M526 

a1/a2 

M522 

M526 

a1/a2 

m3 4 

5 

7 

8 

M526 




